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� ���������� ������� ������ � ��� �!�"� ��#� ����"���� � �����������!�� �����"� �!�$
#%� � &��%'�  �� �����() � ��" ���#� ��#� ������� � !��"�#�*����!�� "���#�� �� ���  ��  �
��!�� �����"�� +�,
℄� � ���� ����) � ������� +	) �℄  � �� ��� !� ������!�. ������ ��#��� � ��$
"���*#�����  �% �����"� ���� � �.) �������/��% �����������!�/ �����"� �����( �� �!�#%� �"
�&��"���.�����"� � ������ +0℄ ��#� ���#����� � *�������� ���.���� ��� ���� �� ����������$
�!�� !� ��*���(�. �� �!�#%� �" �&��"���.�����") � � ������ +�℄ ��#� ���� ��#� � ��� �% ��%&2
"�'�� �� �"�!�. �����(� � ����"�  �. "����. � �� �"�!�. �!�#%� � &��%'�  �. �����(�� �
���#�� �� ������� ������ +3,��℄� "�!���!������!�% �����% �����������!�� �����" �� �!�#%� �"
�&��"���.�����" ��#� & �����#2 � ������4� ������ � � ����� ��&����% ���"�#�&"� � ���4���$
 �  � �#���. �� ��" �� �!�#%� �� ��#�.�� � 5��. ����2� "� ����"����" ������ �� ������  �
�#���.  ��!�#2!�� �!�#%� �� ��#�.� 6�� �����!� ��!�*� ������ �% �!�&������%) ��� ��&����%
�����% �������� � ������������ � �� ��"� ��#2 �" ��� (���" ������� ���� �� !(�� �#� ��.$
����%� 6�#�'� ��" ������) ������%��" ! �����������/) �!�&������% ������#�'� �� �  �����(�$
��#2 ���� 5���!��� �. 7��# �.8 "���� �����(� 9�!�" ����&�") ��& �!#�  �������"���2 ����&��
!� ������!�. ������ �����" �!�#%� � &��%'�  �� �����() ��&�#2���� !�����. � ��������#� � �
 ����%��. ����2��

 � ���!"�#! $!%&�' %( %#!)*+�," �-!�"(��.%&���"

��
� �������
���
 �����
��� ����
���

:��"�����  �. � ����� � �. 5#�"� � ��;�"� 3$"� "�� �*� ��&���*� ������� ���� ��#%������$
�!�. �����(� Γ) %�#%/��*��% ��!��� �" ����#�� ��" Γ = X × P � ��"� ���. ��&�. X(g) �
��!��� �" �#��" P (X) �� �����#2 � ���� !� � ����!� ����%'�  �� �� �"����!�� ����"�  ��
xi 7!� ��*���(��  �� !����� ��8 � Pi 7!����� �� ������  �*� �"��#2��8 ���2 +��℄

�<

dΓ =
̺

(2π)3
dXdP ≡ ̺

(2π)3
dx1dx2dx3dx4dP1dP2dP3dP4, 7	��8
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dX =
√−gdx1dx2dx3dx4; �����

dP =
1√−g
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������ ��(���� �����
���� ηa� a = 1, 8)

ηi ≡ xi, ηi+4 = Pi, (i = 1, 4), ���*�
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dΓ =
̺

(2π)3

8∏

a=1

dηa. ���-�
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��� Γ 
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� �
��� ����
���� 0�℄�)

dxi

ds
=

∂H

∂Pi

;
dPi

ds
= −∂H

∂xi
, �����

��� H(x, P ) � ���!�
�

�
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dΓ

ds
= 0, ���4�
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�
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$�#
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 �
���
#�
�
+ ���������+ Ψ(xi, Pk)� 
 �#���� �����

��%���)

dΨ

ds
= [H,Ψ], ���5�

��� ������� 
����
������ 
����
 6��

���)

[H,Ψ] =
∂H

∂Pi

∂Ψ

∂xi
− ∂H

∂xi

∂Ψ

∂Pi

. ���7�
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� �
��� ����
���� 0,,℄��)

∇̃i = ∇i + Γk
ijPk

∂

∂Pj

, ���,9�

��� ∇i 3 �������� �����
������� �
�������
�����
! �� �
##
� � Γk
ij 3 
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������ ����
�
 gij ��(� X � ;������� ∇̃ ��������� ���
� ����(��� #��

∇̃iPk ≡ 0 ���,,�
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∇̃iΨ(x, P ) = ∇i[Ψ(x], P ), ���,��

������� �(��#���� #�� ��! ��#

���
! ���
(�����% .������ �� �����

 Ψ(x, P ) ��
����#�� ���
#

�
�� �� ��� ���#��/ �����
�����/ ���
(�����/ ���� ��� �
�
 �� ������ 
�����
� ��� �����
�
����� ��
��!����� <�������! ����� �����
��� ��������% �������� ��
��� ������ ��! ��������
!
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 � ������	
���
 ����	��� � �	����� ������	����� Γ� �	��� ���	���� �	�����
������ ��	����	 � �!" � #��� ���	��	����� ����$

[H,Ψ] ≡ ∂H

∂Pi

∇̃iΨ− ∂Ψ

∂Pi

∇̃iH, � �%&"

'	
��� ��
������� � �!" ������# �	��
����	 #�
#���# ������	
�� ���)���# *	�����$

dH

ds
= [H,H ] = 0,⇒ H = Const . � �%+"

,���������� � �%+" ��)�� �	��	�� ������������ ����������� -�
������� 
��������� ������
��	����	 
.�	# ���������� ��������������	# ������# f(H) �	�)� #�
#���# �������� �	��
�/
���	� 0���������	# �����)����� �������# ���	��	����� ������� �	��
����	� ��	��	��*��� ��
����1������ ����
��� *	������ ��� �	
�*�� ��
��� ��	���	������
 � ��	
#���
 ��
�� ����
�
���.1	#$

H(x, P ) =
1

2
[ψ(x)(P, P ) − ϕ(x)] , � �%2"

��� (a, b) ����� � � �	
������� ���� ��	
#���� ������������ �������� a � b ��������
��� �������
�	��$

(a, b) = gika
ibk,

	 ψ(x) � ϕ(x) 3 ��������� ��	
#���� ������� ��	
#���
 �������	
��� -������ ��
���. �����/
����� ������� �	��
����	 � ����������� � �%+" 4�� 5℄$

H(x, P ) =
1

2
[ψ(x)(P, P ) − ϕ(x)] = 0, � �%7"

�����	 �	����$

(P, P ) =
ϕ

ψ
, � �%�"

	 �� ������ ������ �	����*����
 ��	������ ���)���# � �7" ��
�*�� ��#�� ��)�� ����1�����
����
���� � �������� �������� *	�����$

ui ≡ dxi

ds
= ψP i ⇒ P i = ψ−1ui, � �%5"

�����	�
## � �%5" � ����������� ���������� � �%�"� ��
�*��$

(u, u) = ψϕ.

��8���� �
# ����
����# ����������# ���������� ������	 �������� *	�����

(u, u) = 1. � �%!"

��
)�� ����$

ψϕ = 1 ⇒ ψ = ϕ−1,

3 �	��� ���	���� ���	��	���	# ������# �	��
����	 *	����� ��)�� ������
#���# 
��� �����
��	
#���� �������� ϕ(x)� 9*����	# ���
����� ������������ �	����� ������. �	��
����	 �
����*	��
���� �����$

H(x, P ) =
1

2

[
ϕ−1(x)(P, P ) − ϕ(x)

]
= 0, � � :"

� �� �	����*����
 ��	������ � �7" ��
�*�� ��#�� ��)�� ����1����� ����
���� � �������� ���/
����� *	�����$

P i = ϕ
dxi

ds
. � � %"

;� ����������# � �%�" �
������ *�� ������ ����1������ ����
��	 ��������������$

(P, P ) = ϕ2 � 0. � �  "
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 �	�������� ������� ������ � �������

[H,P k] = ∇kϕ ≡ gik∂iϕ; ������

��� ∇i ≡ gik∇k  �����	 !���"������� �"��
�������

���� �������	
 ��	���	
 � 
���������� ������	�����

#
 ���"�� �"$��% !�����&��!�' $"������� ���(� ��	$&�� $"������
 ���)���
 � *��"��)����
��"�$	�"��!� ,�-℄�

d2xi

ds2
+ Γi

jk

dxj

ds

dxk

ds
= ∂,k ln |ϕ|P ik, ����-�

����

P ik = Pki = gik − uiuk ������

 ���
�" �"������	����� �"��!��"�����
 �� ���"��	���� u� ��!�� &���

P ikuk ≡ 0; P ikgik ≡ 3. ����(�

#
 /��' ����������� � $"������� *��"��)� ����-� �%��!��� ��"���� �	������� �"������	������
��!��"�� �!�"���� � $�!�"���
�

giku
i du

k

ds
≡ 0. ����0�

1������� &�� 	��"��)��% $"������
 ���)���
 ����-� ����"�����% ��������	��� 
��!� �!�	
"���
�$�!2�� ϕ(x)�

ϕ(x) → −ϕ(x). ������

3�!)� ����"������ ��������	��� �"��4"�
�����
 ������ � �$�!2�
 ����	����� ����6� �"� �$	����
�� ��"��"��!�� 7�/���$ �
 ����������� ������� ������� � ��!)� $"������� *��"��)� 8 9�	�"� ����-�
�	��$��� &�� !���"�� �!�	
"� ϕ ����� ��%�	 !���"��� ���������	
 ������	
 �
��� �
������

m∗� � ��
����	� �	���

ϕ2 = m2
∗
. ����:�

1������� &�� $!�
�����$ �%4�"$ �$�!2�� ����	����� ����������$�� �	��$���
 �$�!2�
 ���8
����
�

S =

∫
m∗ds, ����6�

��"��	��� ����������
 � �$�!2��� *��"��)� "�	
�������!�� &����2% � ������ ��!�
 m∗ �
�"�����2������ ��	� ����� ���"���"� ,��℄��

���� ����� �����		 �����

7$��� ����"� � ������� ������
 n "�
	�&�%' �!�	
"�%' ��	��� Φr� � !�)��
 &����2� �4	����� n
����������$����� �$��������	��%�� �!�	
"�%�� 
�"
����� qr �r = 1, n�� �"��� !���"%' ���$�
4%�� � �$	��%�� ;�
��!��� ���"�� � �%4�"� �$�!2��m∗(Φr)� <� !��!"���
�"$
 ��!� /�$ �$�!2���
������� �	��$���� ��)��� �4���
��	������ =	
 ����� &��4% $"������
 ���)���
 ���(� ���$�!�	�
	�����%� �����"�	 ���)���
 Ψ = (ξ, P ) = Const� ���	���� ����� ���4'����� � �������&��� &��4%
[H,Ψ] = 0� &��� � ���� �&�"���� ��
��)�� ����� � ��	�!� ������ !���� ,�(℄�

(ξ, P ) = Const ⇐⇒ L
ξ
ϕgik = 0, ������

��� L
ξ
 �"��
�����
 *� � ���"��	���� ξ ����� ���"���"� ,�0℄��

�������"�� �����&��!�� ��	
 gik � Φr� ���$�!����� �"���������4�%� ��!��" ?�		���� ξi =
δi4� !���� ��'"��
���
 ��	��
 /��"��
 
�"
)����� &����2%� P4 = E0 = Const > 0� ;%4�"�� ������$
���&���� � !���"�� gα4 = 0, α, β = 1, 3� ��! &�� !��"������ x4 ��������� � ��"��%� �"������ t�
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�� ���� �

����� �� 	��
���
��� 	���� �
��� �
�
���� ���
��
��
	��� 	����	
� ui � �
�
���� �������
������	� ��	
��� Pi ����� 	�
��

!

P4ds = ϕdt.

"�#
���$ 
	�� �� ����� 	�%����
� ���������& ���
�
���& ��������$ t$ � 	�'	
�
�����$ s$ ��
�
(
�� �
�
�$ u4 = dt/ds > 0 $ �
�'%����� ��'��
� 
���& ������& ��		�$ ��
���� �	
��� '� �	
�����	�
�
�
����

�����!

m∗ = |ϕ| > 0.

*�����$ 
���� ���	
���
����� �$ �� �
���� ������$ ���������� ���%��$ �	������������ � ��(
'�
�% +�
��� ,�℄ . ,/℄$ ���
����
��
 '��

 ������
�
������� �������� ����
����	
� �������
0�������� 1�� �������� � ,�2℄$ �
����

����	
� ������� #��
�
����� ��		� ��	
��� �
 �����(
��
 � �����(��'� ���
����
���� �� �����
 �����	�����
	��� ��������$ 
�� ��� ��'�&��
���
������	 ��	
��� ���� � ��'�&��
��� 
�
%�
���� 	����	
� vα = uα/u4 $ � �
����
 �
 �
��'�&��(

��� ���
��
��
	��� /(	����	
� ��	
���$ ui$ 	�%����

 	��& ���
�
���&!

pi = m∗

dxi

ds
≡ P i. ���3� 

"������� �
 ����
����	
� ������� �
�	
��� 	��
�

	
��

 ��'�� ���
���� ������� ��		� �
���34 !

m∗ = m0 +
∑

r

q(r)Φr,

��
 m0 . �
��
���� ��������� ��		� �����$ � q(r) 5 ����� ��	
��� �
��	�

���� 	��������� ����
Φr$ ��
���
 �� '��
� ������
� ������������� �
����	������ 6 �����
��
� �� '��
� ������
�
m0 = 0$ ��� #
�� �	� ��		� ����� ��	
�� '��

 �'
	�
����
�	� �������
�	
��
� 	� 	���������
������!

m∗ = ϕ =
∑

r

qrΦr. ���33 

7
�
 ��'�� �
�
��

 � #	


��
	��� ���

����$ 
�� ��� � #
�� 	����
 ������� ������
��� ����9 
�
 ����	�
 �
 ��		� ������ : ������ 	
����� �����$ �
� ��� ��'��
 ������� ϕ(Φ) � ����
 ���33 
�����
��� 0������� ����/ 	
�����
	� 	���

������� �
��	�

���� ���
�� Φr → −Φr ��� qr →
−qr� "�#
���$ 
	�� ��	
��� a � ��
���	
��� ā �
����&
	� ������ 	�������% �������$ 
� m̄∗ =
−m∗$ �� 
��
�
���� ��	
��� � ��
���	
��� � �����
�������� � 	�������% ����% �
����
�	� �

'���
� "�� #
�� 	����	�� ����; /(�
�
��� �% ���
��
��
	��� 	����	
� '���
 �
����
�	� ������!
ūi = −ui$ � �
�
��� ��'�&��
���� �'�'<
����� ������	� '���
 	������
� P̄ i = P i� =��

��$
�
� ��� #
�� �
�
��� 
�
%�
���� 	����	
� vα = uα/u4 �α = 1, 3 ��	
�� � ��
���	
�� 
���

	������&
! v̄α = vα� "�� ��'��
 #��
�
����� ��		� � ����
 ���33 ������� ������
��� ����4 
� 	��
���
��
 ���������� ����� ��� �'�'<
����� ������	� �������&
 ���!

H(x, P ) =
1

2

[
m−1

∗
(x)(P, P ) −m∗

]
= 0, ���3/ 

(P, P ) = m2
∗
. ���39 

*
�

�� ���
���
 � �����
��
� 
���
	
��$ 	����
�����
 ��� ������� ������
��� ���3/ !

∇̃iH = −∇im∗, ���32 

[H,Ψ] =
1

m∗

P i∇̃iΨ+ ∂im∗

∂Ψ

∂Pi

, ���3> 

��
 Ψ(x, P ) 
	
� ������������ ��������

���� �����	�
� �
�������

?� ���		��
	��� ������� ������
��� ���3/ 	 ����<�& 	
�����
��� ���	
������!�

Pi → i�∇i ���3; 

�� ���� ���	
�
 �� 
�
�
��� �������
� �� ���

�������� ����
�� 
	����� 
 ������� � = 1�



�� ����� ����	
��

������	 ��
��
�� ��	���
����

Ĥ = −1

2
m−1

∗
(�2gik∇i∇k +m2

∗
). ������

����	 ������	� ��� � ������!� 	���� ��!� ��������!� ���� 	" ������	  ���� "
 ��� �
���  
���	
 �
�����
�"$ ��� �
��% &�
%��'������� � 
�% ��(� �����)
%� �
� 	���� ����� ������ 
���*�� ��	
��
��� �� +��
�
� ��, 	���� -�.℄�

(� +m2
∗
/�2)Ψ = 0, ���0��

� ��� � �����"$ �
�	���� 1 ���
 

�
 �,2�
 ��� �
��� 3������

(�γi∇i +m∗)Ψ = 0, ���0��

!�
 γ 1 ������"�
4�	

�	� 
��*
 �
� �� ���0�� ��� ����
��� �
 Ψ = Φ �  "���
 ����

%(
% ����)�� 	���"

m∗ = qΦ� ��� � ��� ����)�� 	���" m = |qΦ|� ����� ��
��

 ��� �
��
 � ������!� ��������!�
���� � �����
���% �
���
%���
�,�

�Φ+ (q2/�2)Φ3 = 0. ���0��

����	 ������	� ����
��
� ��	��
%�
 ��  ��� �
��� ��������!� ���� �����	�

  ����
 ���
�
'
�
��"% �	"���

λ =
q2

�2
,


�
�� ���
�
��

�� �����!���� ���
�����% 
����% �
���
��" ��� +�
�
��	�!��
��!� �����

�� ������	
�	 ��
���
����	�
�� ��	�
��

3�� ���(��
��� ��2
�
��
� ��
���% ���

��
���% 

���� �� �����% �
��)�

���"$ +��
�
� '
�"$ 	��� +�
	
�
���"$ ���
�) �
��$���	� ���� � �
�
�	�
�

� 

 ��,�
 "
 	�	
�
" �
��
� ��
'
���% ���

��
���% 

����� ��
��"
 	�!�
 �� ��

� �
 ����� 	���" ���
�)"� &�� ��������� 
���$
��,�
 "$ 	�	
�
�  �
!� � �� � ��� ���
�
��,
�� � �	� ���
��

���
 �	�� � ���, ����
 
���!�
	����������
���!�  �
	
�� ���
�)" � ����
 
��"	  �
	
�
	 	����������
���$ ����,��

�
% �
� ���, 	
*��  
�
���	 ������
� ���
�)" � 

 ����2
��"	 �	������	�

���� �����	��
��� �
���	� �����������	�

5�2�% ���	����	 �� �����
�"$ ����)�% �����
�
�
��� ��� � ����  ����
�$ -��� �0℄� 3��
��

�  ��	�*���
� �
��)�

����!� ����� +��
�
� ��% 	���" ���
�) �
��$���	� ������
�� ���'
	
��
� +
�
 ���	����	 � ����	�
�� �
	�	� �����,� 6�!����� +
�	� ���	����	� ��� ���
�
�
'
��� 	����������
���$ ��
���$  �
��
� ��
���	 ���� �	 ����
����
 
 �
��$���	� ���
�
��
�
�� 
!� ���
 
�������
  �
	
���������
 ���
 	����������
���$ ����,��

�
%� Ui(x) : (U,U) = 1�
�� ����	 ��
��"$ ���

 ��� ���
��� ���$������)�� ��
� ��	
�
��� �
�
���"$ ���
�)� 7
�  �
'
	
���������
 ���
�  � �, ��
�
��� ���
�
��

 �
��
���, ����
����
 
����������, 
�
$	
���,
�� 
�$���
�� V3� �	
2
���  ���� ��
���%� δxi� ��
�!������" +
�	� ���,�

V3 : δxiUi = 0, �����

� �	
2
���  ���� +
�!� ���� dxi ���
�
��,
 ���$�������� ����
 ����
 
���
  �
	� τ ����,��'


�
%�

dxi

dτ
= U i ⇔ dxi

dτ
Ui = 1 ⇒ dτ = dxiUi. �����

����	 ������	�  	����������
���% ���

	
 �
��

� ����,��

�
%�

X = V × T ⇒ dX = dV dτ. �����

5�
 ����� �
� � ��� ����
 
���!�  �
	
�� ���
�)"� s� � ���$�������� ���"	 ����
 
��"	
 �
	
�
	 τ ����,��

�
%  ��*��% 
���
 �����!���)�����!� ����
����
 � ��
��� �� �

�� ��'
�
��(
��
	�

dτ

ds
= Ui

dxi

ds
. ���0�



�����������	� ��
��

�����

�� ������ 

�������� ����� �
������	� �� ��
��

�����

�� ������
�� ���� ��

�������	 �
�
�
 �������
��
 ������� 	��	��

�	 ��
�����
� �������
���� �����
�� ���!�� ��"
����� �������
�
��#

dτ

ds
= m−1

∗
(U, P ) ⇒ 1

m∗(s)

ds

dτ
=

1

(U(τ), P (s))
. ���$�

%������
��
 ���!� ��&�� ������������
 ��� ����
�
�(���
��
 �����
��
 �������
�
�� ����(��
s(τ)� ��)�
��	 ������
� �� ��&
� ���
�
���
 ��	)
 �
&�� ��*���
���� ��
�
�
� �����(� �
��
�
�
�� �)�
�
���� �� ����� ��������)��������� ��*�����
�
 #

s = s(τ). ���!�

+����������	 ,"�� �
���	 ����(�	 �����
�
�
��	 ��&�
���
���� �����( F (x, P ) �������	
��
������ �*��)�� -��� �.℄� 0���
 ��)���	 ���
�����	 �����(�� ���
�
�	
��	 �������
�����
�����
��	�� ���!� � ��)���� �����������
 Γ = P (X)×X 
��
#

xi = xi(s); Pi = Pi(s) ⇒ ηa = ηa(s) (a = 1, 8), ���1�

2�
 s 
��
 ��*���
���
 ��
�	 �����(�� 3�2�� ����� �����(� �
2�������
��� ��*�����
�	�� �
�*����� dΓ ��)���2� ������������� ��&�� ���
�
���
 ��� -����.℄#

dN(τ) = F (x, P )δ(s − s(τ))dΓ. ���,�

4��
���� ��� ����� �����( 
��
 ����	�� )����	�� � ������� �� ��*��� ���	 ��*�����
�
 U i�
��
�� �� ��*��� ����
�� ����
�� � ��������� �����������
 X � ��2�� ��� ���� ,"�� �
���	 ����"
(�	 �����
�
�
��	 F (x, P )� �������	 �������
��
� ���,�� 	��	
��	 ����������� � ��)���� ���"
��������
 Γ� 4��
��� ���&
� ��� �
��)��&�� ���
 ���2�2� ���
�
�
��	 ����������� ����(��
�����
�
�
��	 � ,"�� �
���� ��)���� �����������
� 5�
 �������
 ���

 ���
�
�
��	 6�� ����"
(�� 	��	���	 �������� �����	�� ���,�� �
���)�������� � ���
�
���� ����
��� ����
���

���� �����	��
��
	��
 	�
���
 �������
	��� �������

7��
�
�
��
 ����������� ����(�� �����
�
�
��	 ���,�� � ��
��
 � �
 � ���2�� �������
����
����(� � � 	��	
��	 �
���� ����
��� ���
���� �
�	��������� ���
���
��� �
����� ������ 
)������ �� )���� ����� �����(� 0���
 ψ(x, P ) ≡ ψ(η) 
��
 �
������	 ����	���	 ����(�	 ����"
���
���� �
�
�
����� 3�2�� ��2����� ���,� 

 �����������
���
 ��
��

 Ψ(τ) � �*����� Ω ⊂ Γ
���
�
�	
��	 ��
������ �*��)��#

Ψ(τ) =

∫

Ω

ψ(η(s))dN =

∫

Ω

F (η(s))ψ(η(s))δ(s − s(τ))dΓ. ���8�

0���
���
� 
�
 ��)� ��� ����(�	 �����
�
�
��	 F (x, P ) � ������
 �� �����������
���� ��
�����
���
�
�	
��� ��
2�� �� �����
��� � ���� ��*�����
�
 U � 	��	
��	 ����������� � ��)����
�����������
� 0���2�	 ���

 � �����
������ � ������ ����� X = V × T ⇒ dX = dV dt� )����
�
����&
��
 ���8� � 	���� ���
#

Ψ(τ) =
2S + 1

(2π)3

∫

V

dV

∫

T

dt

∫

P (X)

dPψ(η)F (η)ψ(η)δ(s − s(τ)) ����9�

:�	 ����
�
��	 ���
2��������	 �� t � ����9� ���
� ��	)
 t(s) ������ � τ(s) ���!� � ��� ���� δ"
����(�� :�����#

δ(s− s(τ))dt =

∣∣∣∣
dτ

ds

∣∣∣∣ δ(t− τ)ds ≡ |m∗|−1(U, P )δ(t− τ)dt. ������

0�� �����
 ������ �� ���� ��� ����� ��� ���
���(�	 �*�*�
���2� �����
�� � ������
 �� ���
���"
(�� �
����� ���
�����
��� �������� �
 )������ �� )���� 6��
������ ������ �������	 �
�
�

������ � ����9� � ������	 ���
2��������
 �� ��
�
��� ���������
� ������� �������
�
��#

Ψ(τ) =
2S + 1

(2π)3

∫

V

UidV
1

|m∗|

∫

P (X)

P idPψ(η)F (η)ψ(η) ������



�� ����� ����	
��

� �����	��
� �	
���� ψ = 1 �	
��
� �	
�	� �
�
	 ����
� � 	�
���
 V �

N(V ) =
2S + 1

(2π)3

∫

V

UidV
1

|m∗|

∫

P (X)

P iF (η)dP ≡
∫

V

(U, n)dV, ������

��� ������ ������ ����	�
�� ������ 
�
����

ni(x) =
2S + 1

(2π)3|m∗|

∫

P (X)

P iF (η)dP ������

��	� ����	 �	��
� !�����
��	" ����# �� �#
 ����� � � ��#��$
%  ��	��% �	 �#&���	�����	"
� 
�
�� �	��� ���
'���

���� ������� 	 
������
�� ��
	��� ��
�������
��

��
�����
� �		��	&��
� �	 �
 	��
 	�	�$���	�	 
���
(�� ����)� 
��� 
������ *+�� ��� ����+
�
�  ��� ���
��
� F (x, P ) �
���
� �� �� ����	�	" �	�� %�	��
� ,	!�	�� ��	�%	�
�	 �����

���
���
� ��- �� !�	" �	�� %�	��
 �����
-  ��� ���
��
� f(x, P ) � �	�	$(- �		��	&��
��

F (x, P ) = δ(H(x, P ))f(x, P ). ����)�

�#�
�
�� �		��	&��
�

F (x, P )dP ≡ 1√−g
dP1dP2dP3dP4δ(H(x, P ))f(x, P )

� �	�	$(- ��	"��� δ+�����

 .
 ��� 
 ���	�	 �
�� �����

 ���

(�	�� ������� �	
��
��

F (x, P )dP =
1√−g

dP1dP2dP3
|m∗|
P 4
+

δ(P4 − P+
4 )f(x, P ) ≡ |m∗|dP0δ(P4 − P+

4 )f(x, P ), ����0�

��� P+
4 ≡ P4 ���( �	
	1
��
(�#" �	 ��( � �����
� �	 �
 	��
 ����)�� �

dP0 =
1√−g

dP1dP2dP3

P 4
����2�

���( !
����� 	�3��� � �%�� �	�	 � 	�� ������ 
���
(�	��
�  �'�
(���� �	 ��
# �
� ��� 	��	�
����
% � ���
% ������ �	1�	 '��
���( �� �' 
������	��

��	���� ��
�������	�� f(x, P ) �
���-$
� 	� �'	��

Ψ(τ) =
2S + 1

(2π)3

∫

V

UidV

∫

P+(X)

P idP0ψ(η)f(η), ����*�

���� ��	�%	�
�	 �	�����
�( �����	 P4 �	
	1
��
(�#" �	 ��( � �����
� ����	�	" �	�� %�	��
�
� P+ ���( �� %��� ����( �����	��� # ����	�	" �	�� %�	��
� 4��
� 	� �'	�� � 
 �� �%	�� � 2+
�� �	" �����

  ��� ���
��
� ����� '��
�
�	��( 	� !�����
��	" ����# � !�
% �	 ��
�% 
���+
'����

4��
� 	� �'	�� �� ����

�	 �
���-$�� �
��	

����	� � ��

	� �	�
����	� � ��#�
� 
���+
� 
 	���
� �	 �		��������-$
� ��'	�#� 	�3�����

ψ(η)F (η)δ(s − s(τ))dΓ → ψ(η̃)f(η̃)(U, P )dV dP0, ����5�

��� η̃ ���( �
���
����
� �� �����#� �� &���
�� �	� �	�� 	�� ������ Γ0(τ) = V × P0 ⊂ Γ �
!
�����	� 	�3����

dΓ0 = dV dP0. ����6�

� �����	��
� �
� ������� ����	�
�� ������ 
�
�� 
�
���
 ������ �	
��
� 
' ����*��

ni(x) =
2S + 1

(2π)3

∫

P0(X)

P if(η)dP. ������

��������� �	 
��
� ���℄	
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����� ������� �� ����� ����������� ����� !���� ����� ��� ���"
�� ���������� ��#�	 
��
��
������� ����������
����$ ������$ ���� ��
��� � ��
������% �������� �"����� �����������
��%	 ��#�� ��� � ��"
�� ������������$ ���� ���������� ��
������% ����$����� ���� ��
�����
�� ����� ������ �����	 � ������ � ����#������$ ������&���� ���� '� �( 

���� ������	
 ��
������ ����
������� �������

)�
����� ������ �������� ��������% ������#� ���
���% ������
����� �"����� ψ(s)	 '� �( )��

���%% ���������"* �� ������� τ �� ����$ 
����� '� �( � "
���� �������
����#� ������� ������
�����������% δ � �"����� +�����

d

dx
δ(g(x)) = δ(g(x))

d

dx
,

������,
dΨ(τ)

dτ
=

∫

Ω

δ(s− s(τ))
ds

dτ

d

ds

(
F (η(s))ψ(η(s))dΓ

)
. '� --(

.
��� � ����#���� '� --( �����%����� ������#� ��/��� 
������ '- 0( � ������&���� ��% ������
����������� ������
����� �"����� '- 1(,

dΨ(τ)

dτ
=

∫

Ω

d

ds

(
F (η(s))ψ(η(s))

)
δ(s− s(τ))

ds

dτ
dΓ

=

∫

Ω

[H,Fψ]δ(s− s(τ))
ds

dτ
dΓ

.
��� ����� ������&���� '- �2( � ���������� ������ 3"������,

[H,Fψ] = [H, fδ(H)ψ] = δ(H)[H, fψ]. '� -�(

!�#��	 ������% ����#��������� �� ��������� ���������� � �������� �����$�����	 ���"
��,

dΨ(τ)

dτ
=

∫

Ω0

m∗[H, fψ]dΓ0 '� -2(

) 
��������	 ��% �������� ��������% 
���� 
����� '� 1( ���"
��	 ����#�% � '� -2( ψ = 1,

dN(τ)

dτ
=

∫

Ω0

m∗[H, f ]dΓ0 '� -4(

.
��� ������ ������&���� '- �0( ��% �"����� ���������� ����%��� ���%6����$ 
����� � ���"�

�� ����
�������,

dΨ(τ)

dτ
=

∫

Ω0

(
P i∇̃i +

1

2
∂im

2
∗

∂

∂Pi

)
fψdΓ0. '� -7(

!���� �������	 ������&���� ��% �������� ��������% ������
����$ ������$ ���6� �� ������� ��
����� �������� �"����� 

3"��� ������ ������� Ω0 �$�������� ��� &���������� ������� ������������ Γ0 +�% "����
8���% �����#� ����#���� � '� -7( ����$����� ��������������% ����#������� ������&����� ��%
����������� 9������ '�� 	 ��������	 
�℄(,

∫

P (X)

∇̃iψ(x, P )dP ≡ ∇i

∫

P (X)

ψ(x, P )dP. '� -0(

+����	 ������ ��������6���� ������������ ������� ������
����$ �"����� �� �������
��� �����
ΣP (X)	 �$������*8�� ���$������ ������������ ���"�����,

f(x, P )ψ(x, P )|ΣP (X) → 0. '� -1(



�� ����� ����	
��

������ 	
���
	
�� �� ������� �����	� 	
���
���
�� ����
���
	��

∫

P0(X)

∂

∂Pi

f(x, P )ψ(x, P )dP0 = 0. ������

���	� ��
� ��� �����	� ��� ����!��

dΨ(τ)

dτ
=

∫

V

dV∇i

∫

P0

P ifψdP0. ����"�

�� ��������	
�� ��
������ � ��
������ ������	


���� ������	
��
������� ������������ ���
����


��������� �	�
�� �
	�	 �����
��
�� �	��� 
� �����
 ��
� 
	 ����� �
�	��	


�� �������
��
����
���� ��
�
������� ��	�
�
��� ���	
������ ��	
���� �����
���� � ����
����
���� ���

�
������� ��	�
�
��� ����� 
	 ������ !"� #� $#℄&� '�����
���  ��
(� 	 ���	��
��� ���
��
�
���
�  ��� ���)�
�� � #�� ���
�� 
����
��
� �
���
���
�� �	�
�(� � �	)��� 	�
� ��)�	�
��
���
��	�������
��� ����	
��
�� ������

�� �� ���� ���
��� ��	�������
��*��� �	�
�(+

∑

I

Pi =
∑

F

P ′

i , �#�$&

��� ��������	
��  ������
��  � ���� 
	�	��
��� Pi� � ��
��
��� P
′

i � ���
��
���� ���
� �  �	���
 ��
��	*
 ��	�(��+

m∑

A=1

νAaA�

m′∑

B=1

ν′Ba
′

B, �#�,&

��� aA - ������� �	�
�(� 	 νA - �� ����	� .	��� ���	���� ������

�� �� ����� 
	�	��
��� �
��
��
��� ���
��
�� �	�
�+

PI =
m∑

A=1

νA∑

α

Pα
A , PF =

m′∑

B=1

ν′

B∑

α′

P ′α′

B . �#�"&

/�
�(�� �	� ������
�� �	�
�( � ������*
�� �
�	��	


��� ��
�
�������� ��	�
�
���� !"℄��+

m∗[Ha, fa] = Ia(x, P ), �#�#&

��� Ia(x, Pa) - �

���	� �
���
���
��+

Ia(x, Pa) = −
∑

νA

∫
′

a

δ4(PF − PI)WIF (ZIF − ZFI)
′∏

I,F

dP ; �#�0&

���

WFI = (2π)4|MIF |22−
∑

νA+
∑

ν′

b

- �	
��(	 �	����
�� �	
	�	 ��	�(�� �#�,&� �|MIF | - �
�	��	


�� 	� ��
��� �	����
��&1 I -

	�	��
�� ���
��
��� F - ��
��
��1

ZIF =
∏

I

f(Pα
A)

∏

F

[1± f(Pα′

B )]; ZFI =
∏

I

[1± f(Pα
A)]

∏

F

f(Pα′

B ),

�
	� 234 ���
��
�
���
 ����
	�� 2�4 - ������
	� � �����
��
� ��� � !"� #℄&�

�������������	
 ������
�� 1/m∗ � �����
 ����� ����� ����	��
� ���������� ������� ���������� �������
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�� ���� ��

���� �����	�
� �	�	�
�� �
���
�	��
� �	�
�
�

�������� 	�
��� � 
�
��� ���
����� 
������� ������������ 
������� ��
������ ��������	�
������ �������� � 
����
��
�� 
��
�� ���	� ��
���	
 ���� ! � ����"!# 
������ ��	�$�������
���	��%����&

∫

V

dV



∇i

∫

P0

P ifψdP0 −
∫

P0

ψm∗[H, f ]dP0 −
∫

P0

fm∗[H,ψ]dP0



 = 0.

'�����	
�� 
����
������	� �����	� V 
������ �	�(�� ��	�$�� ) ��������+������� ���	��%����&

∇i

∫

P0

P ifψdP0 −
∫

P0

ψm∗[H, f ]dP0 −
∫

P0

fm∗[H,ψ]dP0 = 0. � �,!

����	�
��� 
� 
	���� ��	�$��� � �,! 
���	� ������ �������� �� 
���-���� �� ����	������� ���
)
����� � � !# 
������.

∇i

∫

P0

P ifψdP0 −
∫

P0

ψIadP0 −
∫

P0

fm∗[H,ψ]dP0 = 0. � �/!

0������� 	�
��� � �/! 
� 
��� ���	�� ���	�+ � ���	�
�� 
���-���� ��� ��	�$���� �	�����
�)
���# 
������ 
 �����	
� �	��$�� �����	
�� ��1�����	�
��	���� ����	������� ���
����� � � !
��������� 	����
�� ����
������� ������� ψa(x, Pa)&

∇i

∑

a

∫

P0

ΨafaP
idPa −

∑

a

∫

P0

fam∗[Ha,Ψa]dPa =

−
∑

by chanels

∫ 


m∑

A=1

νAΨA −
m′∑

B=1

ν′BΨ
′

B


 δ4(PF − PI)(ZIFWIF − ZFIWFI)

∏

I,F

dP, � �2!

$�� �������
���� 
��
���	�� 
� 
��� ������� ����+�� � ��!�
����$�� 
 � �2! Ψa = ga# $�� ga 3 ����	���� ��������	������ ������# �������(1���� 
 ��)

��+��� � ��!# 
������ � ���	�� � ��!# � ��! � � �2! ���
����� 
������� 
��	���	�� 
�	���
 �����
���	�+ 
�����&

∇iJ
i
G = 0, � �4!

$��&

J i
G =

∑

a

2S + 1

(2π)3
ga

∫

P0

fa(x, P )P idP0. � ��"!

3 
��	�� 
��	���	� ��������	�����$� 	���# ���	
�	�	
�(1�$� ������� ga� ' ���	���	�# �����
���������� � �4! 
��$�� ����	 ���	� ��� ��-��$� ���	� ���	�+ b �ga = δba! 
�� ����
�� �
��$��	�
�� �	�����
�����

����-�� 
 � �2! Ψa = P k# 	�$�� 
����	�$������� 
���-���� 
 ����%�� ���$��� ������� � �2!

�����	
�� ������ ���������� ����1����$� ��
����� 
�� �	�����
����� � ��! ��
��&

m∑

A=1

νAΨA −
m′∑

B=1

ν′BΨ
′

B ≡ PI − PF = 0.

5���� �������# 
������ � ���	�� �����! � � ��! ���
����� 
������� 6���$��)��
����� 
�����&

∇kT
ik
p −

∑

r

σ(r)∇iΦr = 0, � ���!

$�� 

����� ����
� ������� � �
	����� 	���
�

T ik
p =

∑

a

2S + 1

(2π)3

∫

P0

fa(x, P )P iP kdP0 � ���!



�� ����� ����	
��

� ��������	 
�������
 ������ a � �� ����� ����
� �����
�	���� ���������� 
��� Φr� σ
(r)
a �

σ(r) =
∑

a

2S + 1

(2π)3
m∗

aq
(r)
a

∫

P0

fa(x, P )dP0. ����	


� �
�������� ��� �
�������� �������
 (q,Φ) �
��� ����
����� �����
 ������
�� ����

∇kT
ik
p − σ∇iΦ = 0, �����


��� ���� �	� ��℄
�

σ = Φ
2S + 1

(2π)3
q2

∫

P0)

f(x, P )dP0. ����!


"���#�� �������$� ��� ����
 &'( �����
� 
 �
�)� ��
�����* ��������� �
���
 ����	
� �
*���+
�
� ��� ��
����� �
��)���,� �
���-� ��� �
�
���* �#��-�� �
���$���
 �������� ������
��,�
���������� �
���������� #�
�����* � ��������)���� � ����
����� ������� ���#�$�
 � ���
�$+
�,� ������������� �
���-�

���� ����� 	�
�����
� ������� ������� �����

 � 
�����	�

/���
� ������
 �
�������������� #�
�����* �������� ��+����,�� �� #�
�����* '*�0��*�
�

Rik − 1

2
Rgik = 8π(T ik

p + T ik
s ), �����


��� T ik
p 1 ����������,* �,0� &'( ��
����������* ������,� 
 T ik

s 1 &'( ������, N ���
�����,�
��
����,� ����*�

T ik
s =

∑

r

ǫ
(r)
1

8π

[
2Φ,i

(r)Φ
,k

(r) − gikΦ(r),jΦ
,j

(r) + ǫ
(r)
2 m(r)

s
2gikΦ2

(r)

]
, ����2


��� ��� ��
���������� ��
������� ���� ǫ2 = 1� ��� �
�������� ��
������� ���� ǫ2 = −13 ��� ����
� ���
����
���� ���������� �
��)���,� �
���- ǫ1 = 1� ��� ���� � �����)����� ����������
�
��)���,� �
���- ε1 = −1� 4������� ��� &'( ��
������� ���� � ����� ����2
 ���#�
���� ��
5
��
�)�
�
 ��6℄�

Ls =
∑

r

ǫ
(r)
1

8π
(Φ(r),iΦ

,i

(r) − ǫ
(r)
2 m(r)

s
2Φ2

(r)). ����7


�,������ ���
��
���#8 ���������#8 ∇k �� �#��
����� ������
 9������ ���#�$�


T ik = T ik
p + T ik

s , ����:


�
*��� � #����� �����
 � ����2
�

∇kT
k
i =

1

4π

∑

r

[
ǫ
(r)
1

(
�Φ(r) + ǫ

(r)
2 m(r)

s
2Φ(r)

)
+ 4πσ(r)

]
∇iΦ(r) = 0. ����6


���������� �#��-���
�$��* ���
��������� ��
����,� �����-�
��� Φ(r) ���;�����,� � ����
+
����,� #������� �,�������� ����6
 �������� �,�������� ����� #�����*�

�Φ(r) + ǫ
(r)
2 m(r)

s
2Φ(r) = −4πǫ

(r)
1 σ. �����


&
��� �;�
���� �, ���#�
�� ������# #�
������ ��� �����-�
��� ��
������� ���� ���
 #�
�����*
<��*�
+������
 �� �������$8 �� ��
���
 � ��������
���
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�� ����

���� �����	
� ���
��
�
�
 �����
�
�

�


� �����	
� �
����	���	�
����� ������
�	
�

dS

dτ
= 0 . �����

��
������	� �������� ��� ���	���
 ���	
 ��
� ����	! " # 	����	������ "���� ���
����� �����
���
� �$����
�%�
 �	&% ��	 �$����
�		 �����	 ���� '�(℄��

Zfi − Zif = 0 ���*�

� ������ �����
 �
��!	 �(�*�� +����
�	
 ���*� 
��
,��
 �������� ����!	����%�$� �����
�	 
.��%!���� '*�℄� /�
 	� �
&
�	
 ��
��
� ���
���

Fa = e−φa

(
e−φa ∓ 1

)−1 ≡
(
1∓ eφa

)−1
, ���0�

� �
���%���
 ������ �
�	�	�$ Zif 	 Zfi ��	��� �	��

Zif =

∏

i

e−φa

∏

i,f

(e−φa ∓ 1)
; Zfi =

∏

f

e−φa

∏

i,f

(e−φa ∓ 1)
. ���(�

"���� ����
 �����	��	�����	
 �����
�	
 ���*� ��	��� �	��

m∑

A=1

νA∑

α=1

φA(P
α
A) =

m′∑

B=1

ν′

A∑

β=1

φ′

B(P
′β
B ) , �����

��	�
�� 1�	 ������&
�	
 �����$ �$����
�%�
 � ������ �����
 �
��!	 �(�*�� 2�	����
��$�
�
&
�	
� ����� ��	 ���	����%�$� ����
�	
� 	����%��� ����	! 
��
,��
 �	�
 �$
 ����!		 	�#
���%����

φA(P
α
A) = −λA(x) + (ξA,P

α
A) , ���3�

��
 ���
����	
 	����	�������	 ����!		 �����
�
�
�	
� λA(x) # ����
�$ � ����	����!	�����
�����������
� ξi(x) # �
����$� ��������

 ���3� � �����
�	
 ����� 	 ��	�$��
 ����� ������
�	

�4�45
����� 	����%�� ��	 ��������
�	
�� �����	� ���
����	
 ���	����%����	 	����%��� ����	!�

ξiA(x) = ξi(x) ; �����

N∑

A=1

νkAλA = 0 , ���6�

��
 ||νkA|| # !
���	��
���
 ����	!�� ��
�
���
 � '�(℄� ���
����	
 ��
�	����� �����	
 ����������	
��
� !	���� �
��!	 

rank||νkA|| < N ���7�

�����
�	
 ���6� ��
��� 	�
,� �
��	�	��%��
 �
&
�	
�
������� �	
��
 �	
�� �������� ��������� ���������� ������������������ ���������� ������

������ λA(x) ��! ������ "���������� #����$������ �������������% ������ 

��������

 �
&
�	
 ���3� � ���0� � ��
��� ����� �����	� �������� & ��������� � ����$�� ���&

#����������
f0
a (x,Pa) = {exp[−λa + (ξ,Pa)]∓ 1}−1 , ����8�

��
 �
���	 ����� ��� 	 ���

� �����
�����
� 4������� �	��	 # �
��	�����
/�
 ����	����	 ���
���� �� �����
�
�
�	
 ����8� �
�4���	�� ��
�
�	����4����% �
�����

ξi(x)�
ξ2 ≡ (ξ, ξ) > 0 . ������
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��

������ � 	
�
��
 ξi(x) �������
� �������	
�
��
� 	
�� vi(x)�

vi =
ξi

ξ
; (v, v) = 1 , ������

�
������
 ���	������� θ(x) ���℄�
θ(x) = ξ−1 ����!�

� "��������� 	
���#���$% µa(x)% � 
�$��
& �
����
����

µa(x) = θ(x)λa(x) . ����'�

(
)�� ���	��������� ����*� �
+�� �$�� ,�	����
 � �����

f0
a (x,Pa) =

{
exp

[−µa + (v,Pa)

θ

]
∓ ‘

}
−1

. ������

���� �����	
 ��
��
������ �������������

�$������ �
����$ ���	��������- ����*�� .�� /�
� ��
��
 	���&�� � �
�����
 �
���#��$&
��	��% ��������- �
�	
����� �
�
�
)
 ��	������� ��
�� ����
�� vi% � �
�
�
� ��������� ����
�
&
	
���"�
��� ���!�� 	�������� ����

P 2
4 = P 2 +m2

∗
. ����0�

1���� ��
�"
���
 	���&�� � ���������
& ������� �

������ � 	�
��������� ��	����
� P (X) � �
3
��������
 
�
����� 	
������$� ��,������$� � ��
)� 	
����� �$��+���- ��- �
�	
���� ����
��
	�
��
��� ����� �����#% ni

a(x)% � (45 a3�
& �
�	
����$ 	��,�$% T
a

ik% �!℄% �0℄�

ni
a(x) = na(x)v

i ; ������

T
a

ik (x) = (Ea + Pa)v
ivk − Pag

ik , ������

)��

na(x) =
ρ

2π2

∞∫

0

{
exp

[
−µa +

√
m2

∗
+ P 2

θ

]
∓ 1

}
−1

P 2dP ; ����6�

Ea(x) =
ρ

2π2

∞∫

0

{
exp

[
−µa +

√
m2

∗
+ P 2

θ

]
∓ 1

}
−1 √

m2
∗
+ P 2P 2dP ; ����*�

Pa(x) =
ρ

6π2

∞∫

0

{
exp

[
−µa +

√
m2

∗
+ P 2

θ

]
∓ 1

}
−1

P 4dP√
m2

∗
+ P 2

; ������

σ(r)(x) =
∑

a

ρ

2π2
m∗q

(r)
a

∞∫

0

{
exp

[
−µa +

√
m2

∗
+ P 2

θ

]
∓ 1

}
−1

P 2dP√
m2

∗
+ P 2

. ������
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��" �����$�� �������������$�� ,��-3
����% � �
��
-��� 8(� ����� ���
� 4�
� �$�
� ������� �, �
)
% ��
 ����� νkA ����" �����#%
�������
��" � ����#�-" �����% �
)�� �$�� �
���:���
 	�
�,�
���$��� (
)�� �, ����� �������
3
����- ����#�� ����)��-#�� �����# � ���������# ������� �,�����
� �

��
:���� ��0℄�

µ a = −µa . ����!�

1������% ��
 �������$& ����
� � ��	�������� ����
�� 	�
��
��� 	
�
�� ����� �����# ��,$��3
���- ����������	�
� 	�
�
	�
� 	����% � �
�������$& �������	
�
��$& �������$& ����
� (45
�����# ��,$�����- ��������	�
� 	�
�
	�
� 	����% �
�������
� +� ,������� (45% �

��������
3
��� /�
�� ����
��% ��,$�����- ��
��
	�
� ������� 	���� ����% ��	�����% ���℄�� (���� 
���,
� �
�
��
-��� 8(� �������������- ��
�
��� �����# �
�	����� � �" ����������
& ��
�
���
 � �����
vi� .�
��
��� /���)�� �����# ����� �
)����
 ������

Ep(x) =
∑

a

Ea , ����'�
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��� �����
 �������

Pp(x) =
∑

a

Pa , ������

��� Ea � Pa� �	���
����� ���� ���� ����!� � �������

���������� ��	��# $%
��

����
�
�� 
�������&��
��� 	���	������� ��
�'�� ��� ���	������%

�� ������ �������� ��'��#
� ��

�
��
��� ����� ����!�� (� ����� ��)����
�

� 
�	��
����� � 
'%
���
��#
�� ����
�*�
�� ������ (� ����� �'�����# ����
�
�� +
���	�� ��

� 
 ��� ����� �� �
�
�
	�� ����  ���
�� ,$� ������ -��'� +
���	�� ������� 
����� �����
������ ���� ���	������
�� ��%
���� �
������ ��'��#
� ��

�
��
���

./������� ��	��# '  ��

�
��� 	���
��� �0�1�� 2  ���
��� ,$� 
������
�� ���3� +��  ��

�
��
	��
����� /���� 	���� � ���� �

∇i

∑

A

∫

P

ψfpidπ −
∑

A

∫

P

f [H ,Ψ] dπ = −
∑

k

∫

P

δ(4)(PF − PI)
∑

A

νkAψAZif (Wif −Wfi)
∏

i,f

dπ .

����4�
5������� 
 ����
����� ψA = δaA� 	�� ��� �� ����4��

∇in
i
a = −

∑

k

νkA

∫

P

δ(4)(PF − PI)Zif (Wif −Wfi)
∏

i,f

dπ . ����6�

5��
���� 
 	��
�& ����� ����6� �
�������
�
�� 	� '�
��
�� ������
��� �������

∑
νkA

∫ ∏

f

(1± f)(Wif −Wfi)dπf .
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  ���
��� ,$� ����� ����� ��'�
 �����
�
�� '�)���� ����� �������

∇in
i
a = 0 ⇔ Na = Const . ����1�

2 ����
�*�
�� ����1� 	�� n−

a 
��/������ 	�
����# ���
���# 	���
����& 	���'�
 ������ � �
��%
�������

N+
a −N−

a = Const . ������

���� ������	
�� ��
����
��������� 
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������
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��� �������
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�
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���#
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��%
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�
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'��� ���	������
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�
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�
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�
���� 
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� +
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�
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�
�� ' 
�� �

[Ha, φa] = 0 , ���3!�

' �� 
��/������ 	�����
��# 
���)�
�� ��� φa �� ���4�� <  ����� ����
�*�
�� ���36�� 	�� ����

[Ha, φa] =
1

m∗

(
P iP kξ(i,k) − P iλa + ∂im∗ξ

i
)
= 0. ���3��
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�������� �
����
ξi  �
�������
�	��� �����
! "������� �
������������ �����
� ��������� ������� �
� m∗ 
≡ 0
���	#�
���� � 
���������� ������� ������������� ���	������� ��
��
������������ 
���������$

L
ξ
gik = 0; %&!'�(

L
ξ
m∗ = 0; %&!''(

λa = Const . %&!')(

*���
����� ��
�
������ +���������� ����� %�!''( � ����-��������� ������������� �����
��#
������ ������� �� %&!''( 	���� ������� ������� ���	������� ��
��
������������ 
���������$

L
ξ
Φ(r) = 0, (r = 1, N). %&!'&(

.�������� 
���� ��� ������� 
���������� ����-�� 
���
�
������ ��
�
���/��� � ������/
�����
�� ξ2� λa� Φ(r) � �����
�� ξi� gik� ξiξk� !!!� �� �������/��� � ������ ��#
������ ��������
����-�� 
���
�
������ 0'℄$

L
ξ
ni
a = 0 ; %&!'2(

L
ξ
T
a

ik= 0 %&!'3(

� �!
! *���
����� +��# �
������� �
��� ���
������� ξi ��#
���/��� ���������� �����
� �������
����� � �����
� 4��5�����$

L
ξ
Rijkl = 0 ; L

ξ
Rij = 0 ; L

ξ
Gij = 0 . %&!'6(

.�+���� ����
����� �
������� 4��5����� 
����� ����������� ������5����$

L
ξ
Tij = 0 . %&!'7(
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A! BC!D! EFGHIJKL� MKNHIOLOPIO
 ROGKIO
 ISKTUV HGW 
TGXTUYHN IUHGPXTUYHIOTGP� MCPP! ZSVP! [!� �&� '3�\'3&
%A76�(!

�! BC!D! EFGHIJKL� MKNHIOLOPIO
 
HGTGO
HN XTUYHNOPY HGW ISK OGLHUOHGI POGFNK ]HUIO
NK WOPIUO^CIOTG XCG
IOTG
OG ISKFKGKUHN ISKTUV TX UKNHIOLOIV� MCPP! ZSVP! [!� �2� 262\27� %A76'(!

'! BC!D! EFGHIJKL� MCPP! ZSVP! [!� MKNHIOLOPIO
 ROGKIO
 K_CHIOTGP XTU OGKNHPIO
HNNV OGIKUH
IOGF ]HUIO
NKP OG
H FUHLOIHIOTGHN `KNW� �2� 27�\27) %A76'(!

)! BC!D! EFGHIJKL� MCPP! ZSVP! [!� aTGPKULHIOTG NHbP HGW ISKUYTWVGHYO
 K_CONO^UOCY OG ISK FKGKUHN
UKNHIOLOPIO
 ROGKIO
 ISKTUV TX OGKNHPIO
HNNV OGIKUH
IOGF ]HUIO
NKP� �2� A�26\A�3� %A76'(!

&! D!D! ELHGTL� MCPP! ZSVP! [!� MKNHIOLOPIO
 PIHIOPIO
HN PVPIKYP TX ]HUIO
NKP bOIS P
HNHU OGIKUH
IOTGP� �2�
'A\'& %A76'(!

2! BC!D! EFGHIJKL HGW M!M! cCdKKL!� eSKUYTWVGHYO
 f_CONO^UOCY TX ISK gKNX DUHLOIOGF ZNHPYH bOIS
g
HNHU EGIKUH
IOTG� hRU! iOd! [! \ jTN! �7! \ A76)! \ ]! A��A \ A��2!
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